INSTALLATION INSTRUCTIONS

1- REMOVE THE EXISTING SUN VISOR AND KEEP THE FASTENING HARDWARE.

2- INSTALL THE BRACKETS ONTO THE EXISTING HOLES.

3- USE THE FASTENING HARDWARE FROM PREVIOUS VISOR

4- FASTEN THE SUN VISOR ON THE SUPPORTS USING THE SUPPLIED
FASTENING HARDWARE, BUT DON'T COMPLETELY TIGHTEN.

5- USING THE SUN VISOR, MARK OUT HOLES ON BOTH ENDS.

6- 1T 1S SUGGESTED TO REMOVE SUN VISOR TO PREVENT DAMAGE.

7- DRILL THE PREVIOUSLY MARKED OUT HOLES AT ' IN. DIA.

8- INSERT THE WELL NUTS IN THE HOLES

9- FASTEN THE SUN VISOR USING THE FASTENING HARDWARE.

10- VERIFY THAT ALL BOLTS AND SCREWS ARE FERMALY TIGHTENED.

ENJOY.

MAME DaTE
DESSNEPAR | P 14-401-2008
VERIFE PAR

TRUX

(=1 wl’ REEi. - TE:
b = 2 MATERIAL FACTOR:- s .
= unvisor for curved glass 2007 & U
; . : . PERIMETRE DE COUPE. - g p
: C - = LINLESS OTHERWISE SPECFED:
N FIMENSIONS ARE IN INCHES SE [ows. MO ?[E;H ]
TCLERARCES:
e A TSUN-K5 & K7|"
TWO PLACE DECMAL = 00 = |
THEES PLACE DECBAAL = 000 SCALE 124 WEGHT: LB SHEET: | OF 1

1 4 r 3 I 2




REWV. REY. DESCRIFTION REV BY DATE

ATOUTEFLATWASHER 174 X TD.E, QIE 21 ETAT 29 & QIEAETAN &
ENLEVE TRUSS PHILIPS 1/4" X 1N G P.W,  |2008-04-09

& JOUTE VUE ARRIERE PowW. 20080425
5
ARTELE| NUMERO DE PIECE DESCRIPTION Qre
] CL7231012-D00 PANNEAU PARE SOLEIL —
% E_r?%am 2-G00 ANNEAU PARE SOLEIL
L D ?Z'CDI| SUPF’ RT C:N EP\L HAME DATE
4 9231012-D02 SUPPORT DE GAUCHE INIERIEUR T TR UX
5 CL9231012-D0 SUPPORT DE DROITE EXTERIEU < P, JEdi-e
& %,2%%__& 2-G0 SUPPORT DE DROITE EXTERIEUR 1 | verriépar
; St __;Puw?gr 3 EUEI‘F:{JE lPhREI sLéRLEiL i ekt "
8 9231012 SUPPORT DE SU - ; —
9 . TRUSS HD, SCREW 1/4NC X 3/4 7 %ﬂéﬁfgfﬁﬁpp i Sunvisor for curved glass 2007 & Up
? : H%;EFﬁTﬁgﬁgqﬁl g URLESS OLHE:?EENS{;EIEFED' SEE |DWGE MO AW
) - [FINSERT STL 1/4-20 X 185 4| Toummance PH1
3 - FLAT WASHER 1/4 D, X I" D E. 6| FRACTONAL £ 32 Al TSUN-K5 & K7
T4 = HEX NUT 174-20NC 17| Mo mACE becwa = 02 .
1 - . FLAT WASHER 1/4" : 21 THREE Pq..ACFi:lE-r_‘mlau + 003 SCALE: |10 WEKSHT 185 SHEET: | OF §

Lad
%]

5 4



